d°c/dp_dy [pb/GeV]

Ratio to CMS

T

=
o O
~ (o)

=
H

o <
O o

e
O O O O O
N w >N ul 2]

10

[EEY

0.5

7000 GeV pp Jets
%I I I I I 1T 1 | I I I I I T 1 | %
- Jetp_ (NSD, 0<|y|<0.5) =
= T =
= E
;"“ﬁ-.‘ﬁ. —
= & 5
= - =
= s =
= Lo =
= T E
= Y =
— I8 —
= L™ =
= a =
= l. . —=
— [ | =
— I. —
= ", E
= m CMS . =
L Pythia 6.426 default " —
= #- Pythia 6.426 pro-q20 m "
= =
= =
:—I | | | | | | | | | | | | 1 | | —:
: T T T T T T T T | T T T T T T T T | :
r‘%-‘%“)ﬁ'l& : -
- Ty g | i
- T S B TE )

TUEAT -
i % |
1 1 | 1 |
10°

Rivet 3.1.0, = 7.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

=

0.5



	Contents
	Page 1


